
Was ist die richtige Lösung? (plus Zahlen bis 20)

1. 870 + 11 = 2. 289 + 14 = 3. 72 + 17 =

4. 565 + 16 = 5. 114 + 7 = 6. 177 + 20 =

7. 835 + 1 = 8. 701 + 20 = 9. 912 + 15 =

10. 496 + 8 = 11.619 + 20 = 12.701 + 18 =

13.635 + 14 = 14.594 + 10 = 15. 943 + 7 =

16. 967 + 8 = 17.878 + 18 = 18. 39 + 13 =

19. 147 + 2 = 20.173 + 15 = 21.199 + 14 =

22.822 + 16 = 23. 610 + 2 = 24. 202 + 6 =

25.271 + 16 = 26. 980 + 4 = 27.482 + 11 =

28. 318 + 2 = 29.476 + 20 = 30.785 + 12 =

31. 9 + 9 = 32. 323 + 2 = 33. 95 + 16 =

© MaxKlug.de Online üben  |  
Lehr- und Lernbücher  |  
Arbeitsblätter  |  
Lehr- und Lernmaterialien

Plusrechnen






Was ist die richtige Lösung? (plus Zahlen bis 20)
| ANTWORTEN

1. 870 + 11 = 2. 289 + 14 = 3. 72 + 17 =

4. 565 + 16 = 5. 114 + 7 = 6. 177 + 20 =

7. 835 + 1 = 8. 701 + 20 = 9. 912 + 15 =

10. 496 + 8 = 11.619 + 20 = 12.701 + 18 =

13.635 + 14 = 14.594 + 10 = 15. 943 + 7 =

16. 967 + 8 = 17.878 + 18 = 18. 39 + 13 =

19. 147 + 2 = 20.173 + 15 = 21.199 + 14 =

22.822 + 16 = 23. 610 + 2 = 24. 202 + 6 =

25.271 + 16 = 26. 980 + 4 = 27.482 + 11 =

28. 318 + 2 = 29.476 + 20 = 30.785 + 12 =

31. 9 + 9 = 32. 323 + 2 = 33. 95 + 16 =

881 303 89

581 121 197

836 721 927

504 639 719

649 604 950

975 896 52

149 188 213

838 612 208

287 984 493

320 496 797

18 325 111

© MaxKlug.de Online üben  |  
Lehr- und Lernbücher  |  
Arbeitsblätter  |  
Lehr- und Lernmaterialien

Plusrechnen





